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3 Q-an (psed - 6,000 1.  Write the meaning of branch account. 8
1,10,000 1,10,000 Havans; sams@ aaTugen QUTHET cT(PSIs. =<
Q-efar  QOpmgliny Hlevewrd Fnobd  SmOSSIULILE. el 2.  State any two objectives of branch accounts.
HnwsHbe Qsaiss Caangw Asraassns aps eswrar AsT@ad Savend sarsdles CHTESBIGET Q) TEHTlq HEIE S5, =3
Qegips Quaddme. @ubdnd @. 30,000 whpd S@pswe _ o ‘ - -
@. 6,400 aren QTEBOTESILLLE). sLamafsef0mHs @, 24,000 3. Give j‘,he meaning of Departmental accovlymtlng'. :
CwC D Qupiuleg. sLaBCETBEG 5% SaTE@pu iquqéd Liewrd gleopeunf] sansdwed erenLigen GLTHET S(Hs. N
CuG ; » , L - -
QegisriuLg. ‘rﬂgumgsg_ﬁ & GaraiDs . i) Fperauyrer UGG 4. What should be the basis of allocation for Rent and Advertising? e
sams@saman sWrr Qais. stiant ardli wiGy eduflenar LWEGTURSSIS. : i
arLes wHmD ofetbugd pHume  aTHs é{lq.LJI_IGIDLufﬂGD
ndipgaissiL@ang? cg
5. What do you mean by Hire Purchase Price? é-
aumL_ena Qamearpse eflena erarLiger GummeT eree? p
6.  What is down payment? <
2 L ey QEQISSHIBE GTEMMT6D GTETa ?
7.  What is a partnership deed? :
g _L_TGRTEDLO DGUGWILD GTEMDITE) GTEHTEM ? _S’t
8.  Define Partnership. <
ol L TQuTenLd QUL g
9. What is profit sharing ratio? 5
Qeorus Lk NHBLD GTETMTED GTemmen? R
10. Write a note on Dissolution by Notice. . "_%
Siedliy aped st ubdl @Dl eTipsis.
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11. What is proportionate capital method?
ef&lsrsany Wpgedien (penm CTEIDHITED 6TEHe P

12. Give the meaning of Dissolution.
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PART B — (6 X 5 = 25 marks)
Answer any FIVE questions.

Explain the various features of dependent branch.

sriybleney fenarsafien LdGamy ApLnwdysmer afleu.

Krishna Limited opened a branch at Indore on 1.4.2007. The
information are given for the year 2010-2011

Rs.
Goods sent to Branch 25,000
Cash sales . 10,000
Credit sales : 18,000
Cash from Debtors 16,000
Diseount allowed 300
Cash sent to Branch for expenses 3,500
Stock on 31.3.2008 4,000

Prepare the Branch accounts in the books of H.O.

meiyewrm SAQLL_ 1.4.2007 enm @pgiied seaig Seaver gerdeaner
glousSlwg). Yereumd saaucwger 2010-111b oyeamrpHEEMwug.

.
Eenens@ @Il F785E 25,000
Qurésa eflpLaven " " 10,000
L6 e DLIGnesT 18,000
sLameflgaflb Quibm Qyrésid 1_6,006
DIQUTE(EHEE ieflFS HeT(EhLly 300 -
Sleperullern Qa5 Ehsars aylildu Qrréstd 3,500
31.3.2008 e FraflmLiy 4,000

smaaL igieus g Hsalld faers samsflmern st Qauis.

X purchased ‘machinery under hire purchase agreement from Y.
The cash price of the machinery was Rs. 15,500. The payment
was to be made as follows :

On signing the agreement  Rs. 3,000

First year end Rs. 5,000
Second year end Rs. 5,000
Third year end - Rs. 5,000
Calculate interest for each year.
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Qu_rrgjul.!ésasdT 5. Qersgisaer (.
aps® — A - 80,000 &1iq1 tb 1,00,000
B - 40,000 QunH 25,000
Sl 40,000 spafimuy 40,000
sLafpCami 60,000 s_ammafiser 70,000
QspissisnEiu LS @ 20,000 Qprésb 5,000
2,40,000 2,40,000

C eremmueuit g’ 1_mamrenioudied 1/5 LEdDE eteuqmid ﬁu;r)g,mmas@LuL(a
Ceiiggis Qaretmeni.

(21) &ligL1b em:. 1,20,000 eren wmivdiii® Qewiwitii L g,
(<=3) QuirdluQe Bg1 80% Gsiinrard QeI Lg).
(@) UNTEEL 6T 515, 5% o (HeuréEs.
(rr) &lyésés'l@_uq . 30,000 erem omiodluiE Qewiwtiu’ L g.
(2) A wpgid Buier sfiss’ L uul L psdld 50%gm ‘C saim Gne
2 ater @@Lyfleves @Hlindmenyb wHmd LoGamn CuCH @

SEEGEMETLD SWTT Q&us.

P, Q and R are partners in a firm, they share pr oﬁts and losses
equally. Their Balance sheet on 31.12.2002 i is given as under :

Liabilities Rs. Assets Rs.
P’s capital 16,000 Machinery 40,000
R’s capital 12,000 © Furniture 16,000
Reserve fund 18,000 Debtors 40,000
Creditors 64,000 Cash 8,000

Q’s capital 6,000
1,10,000 1,10,000

The partnership is dissolved due to insolvency of Q who is able
to contribute anything in the payment of his debt to the firm.
Machinery realized Rs. 30,000 and furniture Rs. 6,400. Only
Rs. 24,000 was recovered from debtors. Creditors were paid at a
discount of 5%. Prepare necessary accounts in the books of the
firm when the capitals are fluctuating. Apply Gamer Vs Murray.
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gop X  gep Y
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 Qarndrapse 27,000 21,600

Corg Geveyser 5,490 8,520

3lEgpFen Faa] 360 360

Qné syafmoy 10,800 4,800
wp aurafllugder wapps Qgweyser m. 3,900. Qs6sTans Gra®
SIODEEHEEGLD a&]mumm qu_uuml_u_cﬂa) vdlipgeflssiLGng arend

Q&merrs.

Distinguish between Hire purchase system and Instalment
systems. ‘
UTLn& QSTeTIpHeD @mrp&@m LOHMILD SeuenemT @omgpa;@m @GDL_GUJ
CapuBsEs. '

A and B are partners in a firm. They share profits and losses in
the ratio of 3 : 1 Their Balance Sheet is as follows :

Liabilities Rs. Assets Rs.
Capital — A 80,000 Buildings 1,00,000
B 40,000 Plant 25,000
Reserve 40,000 Stock 40,000
Creditors ' 60,000 Debtors 70,000
Bills Payable 20,000 Cash 5,000
2,40,000 2,40,000

C is admitted into partnership for 1/5% share of the business on
the following terms :

(a) Buildings is revalued at Rs. 1,20,000
(b) Plant is depreciated to 80%

(© Plrovision for bad debts is made at 5%
(d) Stock is revalued at Rs. 30,000

(e) C should introducé 50% of the adjusted capitals of both A
and B. Prepare revaluation account, capital account and
new balance sheet. ‘
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X eremueum @uibdlrn eerdlener Y ulLiblmhg eurL s G\a;rreh@g,sb‘
wpenpwiled euriidlenti. @uitdysHen Qyrés eflene - 15,500. Qsrens
Qemeupomm CeausstitiBEng.

@UIUBZSD enaQumiusiHibd Gurg) . 3,000
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Explain thé advantages of departmental acCoﬁnting.

glemeurfl samradwicden peranngamer afloul.

A and B are partners in a business sharing profits in the ratio of
5:3. They decide to admit C into the firm giving him 1/6* share.

Calculate the new proﬁt sharing ratio and sacrificing ratio of the
partners.

A womid B @J,&?](Su_lrrr'r Qamflefler gal L mafluins o arameni. jeuiEeT
@oru plimismer 5 @ 3 aab idgsilo LTS eiBSemar.
sjauiser C eramueueny 1/6 urndlne Ceisgis Qamdren 1pgey Qaligen.
s Lneflsefler yHw Geru efldlgsdamerubd wHmD aqmrra;aﬂm Surs
NfssHmenid sansdHs.

X, Y and Z are partners sharing profits and losses in the ratio of
2 : 2 : 1 respectively. Y is insolvent and his estate is unable to
contribute anything. You are required to pass two journal
entries as per Garner Vs Murray rule from the following

" information.

. Realization loss Rs. 1,20,000

Deficiency in Y’s Capital account Rs. 22,000

* Capital ratio of X and Z = 73:25

X, Y wppd Z ACuni sl L reflser euisdt @Qeomu bl hismar
2:2: 1 aayib eNflgsHéd LBTHE cundlemment. Y ereruieui Qmbmig i
Bleavaulenan SienLbsrT SHeupmed 6Ths e Lmiseftnlmean b efés
Quearg. YWeaeumbd ssudsmers Qaram( srienm edi Gy
g @rer(h @MUCULHL Lo samens 5(Hs.
Qerggisaar Qurssorésiul Lgsmd ghpul L Bl . 1,20,000
Yuﬂ]eﬁj\@g,d) samgdle 2 e LPMHIEGD h. 22,000
X wpmid Zerr apged e9sb 73 : 25.
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P, K and N are partners in a firm shax_‘iné profits in the ratio of
2 : 2 : 1. K retires and the goodwill of the firm is valued at
Rs. 54,000. Goodwill of Rs. 38,000 was already there in the
balance sheet on the date of retirement. Give journal entry for
goodwill.
P, K wpmid N Gt sal_L_raflser jeuisear @erugslener 2: 2 : 1
aayb flssder ufling cumSlampeni. K eremueurm @ﬁhm QumSpm.
SCurg PmwsdHer pHALWT @5. 54,000 erer wHUGLLLEEDS.
st @uiey Qumb Csduld Qmuublaas @bt o drer pHAUWIT
vy ep. 38,000. pHEALWEmEGHW EALCULH uflesmers F([Hs.

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.
M Limited of Calcutta has branch at Patna. Goods are invoiced
to the Patna branch, the selling price being cost plus 25%. The
Patna branch keeps its own sales ledger and transmits all cash
received to Calcutta. All expenses are paid from Calcutta. From
the following details prepare the Patna branch account for the
year 2009. ' ]

Rs.

Opening stock (invoice price) 1,250
Closing stock (invoice price) | 1,500
Opening debtors 700
Clbsing debtors ) - 900
Cash sales for the year 5,400
Creait sales for the year 3,500
Goods invoiced from Calcutta 9,100 .
Rent 400
Wages . 340
Sundry expenses 80

sosssmedle 2 arar M QL iyér faner qemm Lm_ammelled 2 _areng).
sdlamarsE eph@aer @Lriy eflaneuler sigtiutiu@GEng. G miy
Moo iLsssHen 85 5. 25%. unlenm favar gafliul L dlpuenar
GuCr® WLHMID FHD®L YEUPSD (o QUL ArTé&ssHnE
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CuGr@amer LTmofgs eumEns). marss CFeIEEHEE SO&5ST
Sieiesd LFsgdng. Geaeumpb elurhisamears Qsteam® 2009
(e iu fanars samsdlanar gwrT Qaiis.

€.
Qam_&& gréE (@Lmiy eleneulld) 1,250
Qudls srie (@i aflaauie) 1,500
Qar_&s sLanmafllgar 700
Lnd sL_eanmeflsen 900
penrigen Qe elmHLiener 5,400
<2, TG0 SL_GT Gl HLIEH ST i 3,500
sasgmeilLIb Qmbs QuHD Ly dleme F7&aE 9,100
UMD : , 400-
&ad 340
@1 Qsa|ser 80

From the following particulars, prepare the departmental
trading and profit and loss account for the year ending
315t March, 2007.

' Dept. X Dept. Y

Rs. Rs.
Opening stock 9,000 - 8,400
Sales 42,000 36,000
Purchases 27,000 21,600
Direct expenses 5,490 8,520
Postage : 360 360

Closing stock 10,800 4 800

Indirect expenses for the entire business were Rs. 3,900 which
are to be divided in the proportion of sales of the two
departments.

Slenaupd uprismend daran® oot @S]u_lrrlef LHOID @emL
BLL & samsdlener 31 wmisg 2007 préerm® (PigeuaL LD &y HE
St Q&ls.

geon X geop Y

. €.
QBMTL&s F76@ 9,000 8,400
efpLianen 42,000 36,000
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